Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
— www.EquipmentAnchorage.com
& p—

\_/ ICW USA INC. oes J ROBERSON
111532 1

JOB NO.

TITAN AND ELITE WALL MOUNTS [ mm 6
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS STRUCTURAL ENGINEER OF RECORD WALL MOUNTED
SHALL DESIGN THE WALL STRUCTURE
(16 6A., 50 KSI MIN) \
_ X VARIES _

SEE SCHEDULE

MONITOR WT. =
_ 26" ALIMINIM TRACK SHOWN —%,T
(SEE SCHED SHEETS 2-6 0F7)\ (016" TH 606376, e K1) x._ u

(BY ICW USA)

v
C&. WT. = SEE SCHED
KEYBOARD WT. = { (Z = SEE SCHEDULE) :%»n
3 LB (MAX)
i

"‘%»Tu
USE (6)- 1/4'¢ TEK 5CREM
W

AT STEEL STUD WALL
(16 GAGE, 50 ksi MIN,)
5/8" THK.

WALL BOARD

STEEL 5TUD WALL SECTION
(T2EP-WT2-KWP-MD26 MODEL SHOWN)

NOTES:
1. FORCES ARE DETERMINED PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 170, 8p = 25, b = 15, Rp = 25, z/h < 1)
HORIZONTAL FORCE (En) = 306 Wp
VERTICAL FORCE (Ev) = 034 Wp
2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,
3 STRUCTURAL ENGINEER OF RECORD FOR THE BULDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




[ELSE;

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

|OII

i

2

o SHEET
M ’CW US A INC. oes J. ROBERSON 2
JoBno. 11532
TITAN AND ELITE WALL MOUNTS [ oum 6
SEISMIC SUPPORTS & ATTACHMENTS 12> TRACK WALL MOUNTED
215" 215"

STRUCTURAL ENGINEER OF RECORD

l~—_ SHALL DESIGN THE WALL STRUCTURE

(16 GA, 50 KS| MIN,)
ALUMINUM TRACK

[F——(0.8" THK 6063-T6, Fy=3I KSl)

AN

ELEVATION AT WALL PLATE

(BY ICW USA)
C.G. WT. = SEE SCHED
(X = SEE SCHEDULE)

USE (4)- 1/4"d TEK SCREWS
AT STEEL STUD WALL
(16 GAGE, 50 ksi MIN)

WEIGHT = 63 LB
HORIZONTAL FORCE (En = 306 Wp = 193 LB
VERTICAL FORCE (Ev) = 034 Wp = 21 LB

SCREW FORCES:
TENSION (T) (AWAY FROM WALL (AFW))

(12(63#) + 21#)4699"
2sorews (109

(FREE TO ROTATE)

TuvermoaL =

Tuparae, = 0 LB

Topesp, = 413?3133 - 48 LB/SCREW

T = 220# + 48# = 277 LB/SCREW (MAX)
SHEAR (V)

= 229 LB/SCREW

MONTOR| TOTAL] <
MODEL WEIGHT | LoaD | X, |AFWI[AFW)T (AW) | (AW)
ULIB2EV7-WaKUSMD26 | 32 61 |ar| 19 | 52 | & | o7
ELP5220-WT-KUS-MD26 28 | 62 |4797| 277 | 53 | 88 | 28
+| T2EP-WT2-KWP-MD26 28 | 63 |4699| 277 | 54 | %0 | 277
ToP2020-WT2-KPWMD26 | 28 | 60 | 4127 | 237 | 52 | 85 | 238
MDP1BWMD-KPW-MD26 % | 60 |3218| 224 | 59 | 98 | 25
THS UNIT USED IN THE CALCULATION BELOW,

LOADS: PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, Ip = 15, Rp = 25, zh <)

TuverTcAL =
Ty PARALLEL =

e = 0 LB
T = 20# + 70# = 90 LB/SCREW (MAX)

SCREW SPEC: 1/4"¢ TEK SCREWS
oT = 418 LB/SCREW
oV = 362 LB/SCREW

TENSION (T) AT SHEAR MAX (AGAINST WALL (AW))

(12(63#) + 21#)4"
2screws (10”)

__193#&) 70 | B/SCREW
4 screws(2.75Y)

(FREE TO ROTATE)

= 20 LB/SCREW

ViagansTwa =, | ((12063#) + 21#)4699)  193#
2screws (10) 4 SCREWS
1934

Vi hax @ Tu i = J 12(63#) +21# <
UNITY CHECK: (AGAINST WALL GOVERNS)

Tu Vu 90
(ﬁ) - <W> <10 (W) - (@) - 0%

4 SCREWS

<10 . K

>2+ < 12663#) + 21 ¥

4 SCREWS

> = 277 LB/SCREW (MAX) .°. OK

> = 54 LB/SCREW (MAX)




Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
— www.EquipmentAnchorage.com

STRUCTURAL ENGINEER OF RECORD
SHALL DESIEN THE WALL STRUCTURE

" (6 GA,50 K5I MIN)

|
| ALUMINUM TRACK
(018" THK 6063-T6, Fy=31 KSI)
(BY ICH USA)

C.6. WT. = SEE SCHED
(X = SEE SCHEDULE)

16.5"

o —— SHEET
U ’CW US A INC. oes. J. ROBERSON 3
Joeno. 11-1532
TITAN AND ELITE WALL MOUNTS [ oom 6
SEISMIC 5UPPOR7T§5 ¢ ATFACHME;I;S 19 TRACK NALL MOUNTED
275" 275"

NUMBER 2 MIN,)
(DESIENED BY 5TRUCTURAL
ENGINEER OF RECORD)

MIN
VERTICAL 4 x STUD MIN.
(DOUGLAS-FIR LARCH l

USE (8)- 1/4"® X 4" i
WOOD SCREWS TO
WOOD STUD OR BLKG.

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, lp = 15, Rp = 25, 2/h <)
WEIGHT = 63 LB
HORIZONTAL FORCE (Er) = 306 Wp = 193 LB
VERTICAL FORCE (Ev) = 034 Wp = 21LB

SCREW FORCES.

‘ USE (6)- 1/4"0 TEK SCREWS (PRE-DRILL HOLES N
N peaicame NI TO 70% SHANK DIAMETER) i
(16 GAGE, 50 ksi MIN.)
ELEVATION AT WALL PLATE s, —
WALL BOARD
MONTOR|TOTALT <
MODEL WEGHT | Loan | X [AFW) | (AFW)  (AW) | (AW) NOTE:
(in) |Tu (b)]Vu (b) ] Tu (b) | Vu (b) MIN EDEGE DISTANCE = |"
B | (B)
UL1B2EV7-Wa-KUSMD26 | 32 51 {57 2 | 20 | 5 | @ MINEND DISTANCE = 2
ELP5220-WT-KUS-MD26 28 &2 4797 7 | 50 | 58 | %7 WOOD STID WALL SFCTION
[ T2EP-WT2-KWP-MD25 28 63 |2699] 70 | 51 | 59 | 167
ToP2020-WT2-KPW-MD26 | 28 50 227 @6 | 4 | 56 | 82
MDPBWND-KPW-MD26 % 50 l|a2B| B9 | 56 | 64 | 58
THS UNIT USED N THE CALCULATION BELOW, /4% WOOD SCREWS

0T = 59 LB/SCREW
oV = 275 LB/SCREW
SCREW SPEC: 1/4"» TEK SCREWS

OT = 418 LB/SCREW
oV = 362 LB/SCREW

TENSION (T) (AWAY FROM WALL (AFW) TENSION (T) AT SHEAR MAX (AGAINST WALL (AW)
(12(63#) + 21#)4699” (1263#) + 214"

T - = 138 LB/SCREW T = 12 LB/SCREW

u VERTICAL 2 : 3(16-5") u 2SCREWS(16-5”>

Typarae, = O LB (FREE TO ROTATE) Toparee —199¥4) 4o misorEw

T, = =22t - 32 LB/SOREW B swraisl275)

UPERP T G screns Toeee = 0 LB (FREE TO ROTATE)

Touax = 138# + 32# = 170 LB/SCREW (MAX) Towax = 12# + 47# = 59 LB/SCREW (MAX)
SHEAR (V)

2 screws(16.5") 4 SCREWS 6 SCREWS

2
Ve T o MK = J 12(63#) + 21# ( 1934 > 51 LB/SCREW (MAX)
4 SCREWS

UNITY CHECK: (AGAINST WALL GOVERNS)

T, (W 59\, (387) - 066 < 10 .
(@T) * (mv) <0 (418 ) * (862) 0e6<10 .7 QK

V 4 AGANST WALL = J <(1.2(63#) + 214699) | 1934 >2+ < 12063#) + 21}

> = 187 LB/SCREW (MAX) .°. OK

UNITY CHECK: (WOOD SCREW)

59 187 .

R




Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
— www.EquipmentAnchorage.com

\w_// ICW USA INC. oes J. ROBERSON SZ

Joeno. 11-1532

TITAN AND ELITE WALL MOUNTS 21T/

DATE

OF 6 SHEETS

SEISMIC SUPPORTS & ATTACHMENTS 26> TRACK NALL MOUNTED

215" 275"
STRUCTURAL ENGINEER OF RECORD MIN
[——— SHALL DESIGN THE WALL STRUCTURE VERTICAL 4 x STUD MIN. l

: (16 &A, 50 K5I MIN) (DOUBLAS-FIR LARCH
ALUMINOM TRACK NUMBER 2 MIN)

D=z (018" THK 6063-T6, Fy=31 KS1) (DESIGNED BY STRICTRAL (11 i
> (BY ICH USA) ENGINEER OF RECORD)
>0 C.6. WT. = SEE SCHED
5 _ @gﬁ (X = SEE SCHEDULE)
X,
=
USE (6)- 1/4"® TEK SCREWS
AT STEEL STUD WALL USE (6)- 1/4"¢ X 4"
r e a7 (18 GAGE, 33 ksi MIN) NOOD SCRENS TO
WoOD STUD OR BLKG.
ELEVATION AT WALL PLATE (PRE-DRILL HOLES N
TO 70% SHANK DIAMETER) \.=..
MONTOR] TOTAL| <
MODEL WEGHT | LoaD | X [(AFWIH (AFW) | (AW) | (AW)
(n) |Tu (b)|Vu (b) | Tu (b) | Vu (b) |5/8" THK. _/
UL182EV7-W3-KUS-MD26 32 61 |3157| 93 | 49 | 53 | 10 NOTE.
ELP5220-WT-KUS-MD26 o8 62 |4797| 127 | 50 | 54 | w4 MIN EDGE DISTANCE = I'
* ToEP-WT2-KWP-MD26 28 63 4699 127 | 51 55 | 144 MIN END DISTANCE = 2"
ToP2020-WT2-KPW-MD26 | 28 60 |4127| 10 | 49 | 52 | 16
MDP1BWMD-KPW-MD26 %5 50 la2es| 07 | 5% | 60 | WOOD STUD WAL SFCTION
THS ONIT USED N THE CALCULATION BELOW. 726 WOOD SCREWS
LOADS: PER 2016 CALIFORNIA BULLDING CODE AND ASCE 7-10. OT- 596 LB/SCREW
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, Ip = 15, Rp = 25, z/h < ) v
WEIGHT = 6318 s\éRlzzv7v5sLF>?z/§C1?iN TEK SCREWS
HORIZONTAL FORCE (Er) = 306 Wp = 193 LB P /S-CREf/’V
VERTICAL FORCE (Ey) = 034 Wp = 21LB -

oV = 362 LB/SCREW
SCREW FORCES.

TENSION (T) (AWAY FROM WALL (AFW) TENSION (T) AT SHEAR MAX (AGAINST WALL (AW)

Ty vermeaL = (1265#) « 21#14699" _ g5 | g/SCREW Ty vermeaL = (12063#) + 24" _ g | 5/5cREW

2 screws(24") 2 screws(24")

Tupaaue = O LB (FREE TO ROTATE) Tooetee —19984) o oesnew

T o = —2%_ _ 30 | B/SCREW 6 o275

UPERP: ™6 screws T = 0 LB (FREE TO ROTATE)

Ty = 95# + 324 = 127 LB/SCREW (MAX) T,y = 8% + 47# = 55 LB/SCREW (MAX)
SHEAR (V)

Vysamerwan =, [ (12638 « 2a600) 108\ (1265m « 2\ ) ooonn (MAX) .". OK

2 screws(24”) 4 SoREWS 6 SCREWS =

2
Vumaxe T = J 12634) + 21# . < 1954 > - 50 LB/SCREW (MAX)
4 SCREWS
UNITY CHECK: (AGAINST WALL GOVERNS) UNITY CHECK: (WOOD SCREW)

Tu Vu 55 1 . 6 63
Ll Ll Y — | =052<10 .°. OK <A K
<®T> + (mv) <10 <418 ) N (34462> 052 <10 .*. OK (596> + (275> 036 <10 .". OK




[ELSE;

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

N” SHEET
U ’CW US A | NC. oes. J. ROBERSON 5
soNno. 11-1632
TITAN AND ELITE WALL MOUNTS [ 5. - 6
SEISMIC SUPPORTS & ATTACHMENTS 3" TRACK VERTICAL 4 x STUD MIN. WALL MOUNTED

ELEVATION AT WALL PLATE
LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 170, @p = 25,Ip = 15, Rp = 25,zh <)
WEIGHT = 63 LB
HORIZONTAL FORCE (En = 306 Wp = 193 LB
VERTICAL FORCE (E) = 034 Wp = 211B

SCREW FORCES:

275" 275" (DOUGLAS-FIR LARCH
STRUCTURAL ENGINEER OF RECORD NUMBER 2 MIN,) MIN
~—__ SHALL DESIGN THE WALL STRUCTURE (DESIGNED BY 5mucmgﬁ\
‘ ‘ ‘ 9 (16 GA., 50 KSI MIN,) ENGINEER OF RECORD)
5/8" THK.
ALUMINUM TRACK
% ‘ (018" THK 6063-T6, Fy=31 K5)) WALL BOARD
0= = (BY IC USA) USE (8)- 1/4" X 4"
SIE | WOOD SCREWS TO il
= CG. WT. = SEE SCHED WOOD STUD OR BLKG.
> — f (X = SEE SCHEDULE) (PRE-DRILL HOLES
TO 10% SHANK DIAMETER) | e
. , USE (8)- 1/4"0 TEK SCREWS NOTE:
Y B — AT STEEL STUD WALL MIN EDGE DISTANCE = |"
/ (18 GAGE, 33 ksi MIN) MIN END DISTANCE = 2"
I MONTOR|TOTAL| o
101 MODEL WEGHT [LoaD [ X [APWITIAPW | (AW | (AW) |-
o) .
n UL182EV7-W3-KUS-MD26 32 61 | 3157 | 669 | 48 40 91
ELP5220-WT-KUS-MD26 28 62 |[4797| 91 49 4 | 15
\ | ol | *[ T2EP-WT2-KWP-MD26 28 63 |4699| 91 50 41 116
TOP2020-WT2-KPW-MD26| 28 60 |4127| 79 | 47 39 | 103 | 1—
MDP18WMD-KPW-MD26 35 69 |[3218] 77 | 55 45 | 104
* THIS UNIT USED IN THE CALCULATION BELOW.
WOOD STUD WALL SECTION

1/4"s WOOD SCREWS
0T = 59 LB/SCREW

oV = 275 LB/SCREW
SCREW SPEC: 1/4"» TEK SCREWS

oT = 418 LB/SCREW
v = 362 LB/SCREW

Vi MAX @ T u MAX = 1263# +21# R
4 SCREWS

> = 50 LB/SCREW (MAX)
UNITY CHECK: (AGAINST WALL GOVERNS)

T, (% 4\, (16 _gpcp
(@T) * (mv) <10 (418 ) * (862) Qaz<io . DK

TENSION (T) (AWAY FROM WALL (AFW) TENSION (T) AT SHEAR MAX (AGAINST WALL (AW)
(12(63#) + 21#)4699 (12(63#) + 214"
T = = 67 LB/SCREW - + =
u VERTICAL 2 screws(34) Ty VERTC > " 6 LB/SCREW
T, = O LB (FREE TO ROTATE) Tupamae s —199#¥4) s 3/scREW
- 8 sorews(2.75")
PP = g~ 24 LB/SCREW T = 0 LB (FREE TO ROTATE)
Touae = 67# + 24# = 91 LB/SCREW (MAX) Touax = 6# + 35# = 41 LB/SCREW (MAX)
SHEAR (V)
2 2
Vst = | ((12063#) + 28#K4699) _ 193# o (12638 + 2 Y o tmew (M) L. OK
2 scREws(34") 4 SCREWS 8 SCREWS =
103 \

UNITY CHECK: (WOOD SCREW)

41 6 .

S




[ELSE;

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

o SHEET
M ’CW US A INC. oes J. ROBERSON 6
JoBNo.  11-1632
TITAN AND ELITE WALL MOUNTS [ oum 6
SEISMIC SUPPORTS ¢ ATTACHMENTS 50" TRACK WALL MOUNTED

ELEVATION AT WALL PLATE

WEIGHT = 63 LB
HORIZONTAL FORCE (En = 306 Wp = 193 LB
VERTICAL FORCE (E) = 034 Wp = 21 LB
SCREW FORCES:

TENSION (T) (AWAY FROM WALL (AFW))

(12(63#) + 2H#)4699" _ 4o | 3/5CREW
2 soRews(48")
(FREE TO ROTATE)

Ty vermeaL =

Tupamae = 0 LB
193#
10screws

Towx = 48# + 19# = 67 LB/SCREW (MAX)

Topep = = 19 LB/SCREW

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, Ip = 15, Rp = 25, zh <)

268" 268" STRUCTURAL ENGINEER OF RECORD 5/8" THK. 3"
I SHALL DESIGN THE WALL STRUCTURE WALL BOARDN\ |<_
(16 6A, 50 KSI MIN) [
T 1 [ , VERTICAL 4 x STUD MNN,
ALUMINUM TRACK (DOUELAS-FIR LARCH D N
N LI ~~—— (0.18" THK 6063-Tb, Fy=31 KSI) NUMBER 2 MIN) e
q (BY ICW USA) (DESIGNED BY STRUCTURAL
ol USE (10)- 1/4"0 TEK SCREWS EN@'(NE')ER OF RECORD)
Lz oy AT STEEL STUD WALL USE (10)- 1/4"% X 4" -~
4y (18 GAGE, 33 ksl MIN) WOOD SCRENS TO dim
Sk | WOOD STUD OR BLKG.
o (PRE-DRILL HOLES
Q C.6. WT. = SEE SCHED
N (X - SEE SCHEDULE) TO 10% SHANK DIAMETER)
NOTE:
S | = MIN EDGE DISTANCE = |" 11—
< — MIN END DISTANCE = 2" T
. wove. [ waor [ Lo | X [0 ew | g |
= (LB) (LB.) in, U \ID, U \ID, U \ID, u\ID,
‘ o UL182EV7-W3-KUS-MD26 | 32 61 [3157] 50 | 48 | 31 | 78
| ° ELP5220-WT-KUS-MD26 28 62 |4797| 67 | 49 | 32 | 9% T
= *[ ToEP-WT2-KWP-MD26 28 63 [4699| 67 | 50 | 32 | 97
Q T2P2020-WT2-KPW-MD26| 28 60 [4127| 58 | 47 | 31 | 86
- MDP18WMD-KPW-MD26 35 69 [3218| 57 | 54 | 35 | 89
‘ ‘ o VTTM-KUW-MD50 28 84 |166| 48 | 66 | 43 | 88
o * THIS UNIT USED IN THE CALCULATION BELOW. 5=

WOOD STUD WALL SECTION
/4" WOOD SCREWS
OT= 59 LB/SCREW
oV = 275 LB/SCREW

SCREW SPEC: 1/4"9 TEK SCREWS
o = 418 LB/SCREW
oV = 362 LB/SCREW

TENSION (T) AT SHEAR MAX (AGAINST WALL (AW))
__(1263#) + 24" _ 4 5iospew
2 screws(48”)

__193#4) _ _ o5 | B/SCREW
Dsorews (275"

Topgp, = 0 LB (FREE TO ROTATE)
Towax = 4# + 28# = 32 LB/SCREW (MAX)

Ty vermcaL

Ty PARALLEL =

SHEAR (V)

Vi MAX @ TuMAX = 1268# +21# N
10screws 4 SCREWS

UNITY CHECK: AGAINST WALL GOVERNS) (TEK SCREWS)

-l () (&

418 362

Vi acanst wa = [ ((12634) + 21#)4699")  193# ¢ .
2 screws(48”) 4 sCREWS
1934 ¥}

) =034<10 .%

2
_V2B3#) + 2 ) _ o7 | B/SCREW (MAX) .". OK
10screws R

> = 49 LB/SCREW (MAX)

UNITY CHECK: (WOOD SCREW)

32 97

OK




	1
	2
	3
	4
	5
	6

